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It cannot overpower 7%n — 7190 KR NN

OVERVIEW

PrX> 17 states that N0 7p7¥ has the power to be 'AX' 7913; however (even) fpTX
7no2 cannot be 71910 the more powerful (wrath of) an'. Our nMvOIN cites a
contradictory X n3.

nvoIn asks:
NN NV NNNg ’w‘mx (x,25 97 09973 NYIAIN P9929 Lorn

It is astounding! For in 2°971 7va98 P95 the X9%» states that swn Kkilled m%n.
m»oIn does not resolve the contradiction.

SUMMARY
From the X713 in 2°771 it appears that 7nr is more powerful that AX.

THINKING IT OVER

The X3 in 0771 states” that there are two (types of) 7m; one which mwn killed and
the other from which 7wn was afraid. What is m»0I1n question; the 7nn that fwn
killed is indeed weaker than AX; however the remaining 7117 is stronger than AX,
which is in accordance with out X 3 that 7910 11X 7nn (referring to the more
powerful man?1*

' See X"waanm (in ") who suggests that perhaps instead of m»°n (and a question) it should read w11 (an

explanation). N9oIN is proving that prx® "7 argues on the previous statement that 151 7wnn N N2 191 7173, for wn

11727 killed w"»y ,7nn. The translation here (however) follows our 07, See o"7n.

* The X3 there (regarding s'7iwn tardiness in making a n72 for his son) reads: wanaw Aywa Xira 92 777 "7 W7

TNIR2 1300 777 710 712 N2IY DR MDY X AMDY AP TR 1230 ROR A0 1MW KDY IMV02Y A0 AR IR 79007 123127 7w

,TAMIY AR 2197 SN0 % 2N 00 PR TR0 RIW 10T 720 2R WO LTam 2 ARD 777 NI PNAY W2 Awn wpha avw
([>"wA] 2371 1R Dax v 5’“) AT XTI KRR NOY2RY N0 72°0 °7N

Mmoo question seems to be that from s'prx 27 statement (7912 1K 77 7912 AX) it appears that 7nn is stronger than

aX. However from the X773 in 0°771 it appears that AR is stronger than 711 (for Awn killed 7m but not AX).

? See footnote # 2.

* See o"n.
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